| tested if there is a transitionend event when transitioning between property values that mean the same thing.
Code: https://gist.github.com/surma/d01524912f3157dce9293108b60c8e96
Live site: http://f.surma.link/tmp/transitiontest/

Firefox 51, Win10

Chrome 56, MacOS 10.2

Safari 10, MacOS 10.2

Chrome 55, Android 7.1

Mobile Safari, iOS 10.2 (simulated)
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translateX(0) — translate(0))

50vw — 50%)

19px — 1em)

static — relative)

center center — 50% 50%)

translateX(0) — translate(0))

50vw — 50%)

19px — 1em)

static — relative)

center center — 50% 50%)
translateX(0) — translate(0))

50vw — 50%)

19px — 1em)

static — relative)

center center — 50% 50%)
translateX(0) — translate(0))

50vw — 50%)

19px — 1em)

static — relative)

center center — 50% 50%)

translateX(0) — translate(0))

50vw — 50%)
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rgba(255, 0, 0, 1) — hsla(0, 100%, 50%, 1))

rgba(255, 0, 0, 1) — hsla(0, 100%, 50%, 1))

rgba(255, 0, 0, 1) — hsla(0, 100%, 50%, 1))

rgba(255, 0, 0, 1) — hsla(0, 100%, 50%, 1))

rgba(255, 0, 0, 1) — hsla(0, 100%, 50%, 1))
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not fired
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not fired
not fired
not fired
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not fired
not fired
not fired
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Edge 14, Win10

transform

(translateX(0) — translate(0))

color (rgba(255, 0, 0, 1) — hsla(0, 100%, 50%, 1))
width (50vw — 50%)

font-size (19px — 1em)

position (static — relative)

transform-origin

(center center — 50% 50%)
























































































